# Bid #20041JLS - PHARMACEUTICALS FOR BSO FIRE RESCUE REGIONAL LOGISTICS

Start Date Jun 29, 2020 9:16:58 AM EDT Awarded Date Not Yet Awarded

Bound Tree Medical \$1,554,727.98 (77/77 items)

Bid Contact Tim Jamison Address 5000 Tuttle Crossing BLvd SubmitBids@boundtree.com Dublin, OH 43016

SubmitBids@boundtree.com Ph 800-533-0523

Fax 877-311-2437

Supplier Code 241168

Bid Notes Attached to the first line are all the requested and required documents for this bid. In addition to those

documents, we have provided our item list with detailed information as to price, selling unit of measures,

description, and dosages.

Agency Notes:

Supplier Notes: Attached to the first line are all the requested and required documents for this bid. In addition to those documents, we have provided our item list with detailed information as to price, selling

			have provided our item list with detailed information as to price, selling unit of measures, description, and dosages.		
Item#	Line Item		Unit Price	Qty/Unit	Total Price
20041JLS- -01-01		Vial: NDC # 0409-6629-02 - First Offer	\$25.54	150 / each	\$3,831.00
Product Co Agency No	ode: 310055020029 otes:		Supplier Product Code: 3 Supplier Notes:	75204	
20041JLS- -01-02		Vial: NDC # 63323-064-04 - First Offer	\$2.22	500 / each	\$1,110.00
Product Co Agency No	ode: 310055020030 otes:		Supplier Product Code: 06 Supplier Notes:	64-11	
20041JLS- -01-03		Vial: NDC # 0409-8060-29 - First Offer	\$7.26	1000 / each	\$7,260.00
Product Co Agency No	ode: 310055020031 otes:		Supplier Product Code: 60 Supplier Notes:	695-02	
20041JLS- -01-04		Vial: NDC # 0409-2308-02 - First Offer	\$1.46	1000 / each	\$1,460.00
Product Co Agency No	ode: 310055020063 otes:		Supplier Product Code: 3 Supplier Notes:	71113	
20041JLS- -01-05		Vial: NDC # 0409-6625-02 - First Offer	\$11.30	1500 / each	\$16,950.00
Product Co Agency No	ode: 310055020064 otes:		Supplier Product Code: 3 Supplier Notes:	76625	
20041JLS- -01-06		Vial: NDC # 0009-0047-25 - First Offer	\$9.94	700 / each	\$6,958.00
Product Co Agency No	ode: 310055020122 otes:		Supplier Product Code: 04 Supplier Notes:	409-0047-22	
20041JLS- -01-07		Vial: NDC # 17478-937-05 - First Offer	\$3.37	2000 / each	\$6,740.00
Product Co Agency No	ode: 310055020128 otes:		Supplier Product Code: 60 Supplier Notes:	013-10	
20041JLS- -01-08		Vial: NDC # 0641-6006-10 - First Offer	\$42.28	200 / each	\$8,456.00
Product Co Agency No	ode: 310055020140		Supplier Product Code: 60 Supplier Notes:	006-10	

Vial: NDC # 60977-141-01 - First Offer	\$115.83	20 / each	\$2,316.60
	Supplier Product Code: 33 Supplier Notes:	72131	
Vial: NDC # 17478-542-02 - First Offer	\$2.60	1000 / each	\$2,600.00
	Supplier Product Code: 09 Supplier Notes:	542-02	
Vial: NDC # 63323-651-04 - First Offer	\$11.03	1000 / each	\$11,030.00
		551-04	
Vial: NDC # 42023-168-01 - First Offer	\$317.74	1000 / each	\$317,740.00
	Supplier Product Code: 0° Supplier Notes:	168-01	
Vial: NDC # 63323-064-03 - First Offer	\$2.00	1000 / each	\$2,000.00
	Supplier Product Code: 06 Supplier Notes:	54-03	
Vial: NDC # 47335-931-44 - First Offer	\$6.35	250 / each	\$1,587.50
	Supplier Product Code: 16 Supplier Notes:	532-01	
Vial: NDC # 0409-1219-01 - First Offer	\$140.59	1600 / each	\$224,944.00
	request which would provi Unit price \$90.75/Each for Attached to this line as wel	de BSO with su a Total Price of l as the first itel	shouthed savings. \$145,200.00. In on the bid is our item list with
Vial: NDC # 0409-4888-20 - First Offer	\$1.39	200 / each	\$278.00
	Supplier Product Code: 37 Supplier Notes:	74882	
Vial: NDC # 63323-474-01 - First Offer	\$189.20	300 / box	\$56,760.00
	Supplier Product Code: 33 Supplier Notes:	73474	
Vial: NDC # 0409-3375-04 - First Offer	\$24.87	140 / each	\$3,481.80
	Supplier Product Code: 33 Supplier Notes:	375-04	
Vial: NDC # 0409-9104-20 - First Offer	\$2.50	700 / each	\$1,750.00
	Supplier Product Code: 33 Supplier Notes:	79104	
Vial: NDC # 63323-616-03 - First Offer	\$1.81	2500 / each	\$4,525.00
	Supplier Product Code: 06 Supplier Notes:	516-03	
	Vial: NDC # 17478-542-02 - First Offer  Vial: NDC # 63323-651-04 - First Offer  Vial: NDC # 42023-168-01 - First Offer  Vial: NDC # 47335-931-44 - First Offer  Vial: NDC # 0409-1219-01 - First Offer  Vial: NDC # 0409-4888-20 - First Offer  Vial: NDC # 63323-474-01 - First Offer  Vial: NDC # 0409-3375-04 - First Offer	Vial: NDC # 17478-542-02 - First Offer   \$2.60	Supplier Product Code: 372131           Vial: NDC # 17478-542-02 - First Offer         \$2.60         1000 / each           Supplier Product Code: 05542-02 Supplier Product Code: 0542-02 Supplier Notes:           Vial: NDC # 63323-651-04 - First Offer         \$11.03         1000 / each           Supplier Product Code: 0651-04 Supplier Notes:           Vial: NDC # 63323-064-03 - First Offer         \$2.00         1000 / each           Supplier Product Code: 064-03 Supplier Notes:           Vial: NDC # 47335-931-44 - First Offer         \$6.35         250 / each           Supplier Product Code: 1632-01 Supplier Notes:           Vial: NDC # 0409-1219-01 - First Offer         \$140.59         1600 / each           Supplier Product Code: 371219 Supplier Notes: We would like to propose request which would provide BSO with stude to this line as well as the first tite detailed information as to price, selling undosages.           Vial: NDC # 0409-4888-20 - First Offer         \$1.39         200 / each           Supplier Product Code: 374882 Supplier Notes:           Vial: NDC # 0409-3375-04 - First Offer         \$189.20         300 / box           Supplier Product Code: 373-474 Supplier Notes:           Vial: NDC # 0409-3375-04 - First Offer         \$24.87         140 / each           S

KIVIACEUTI	CALS FOR				
20041JLS- -01-21	Vial: ND	C # 0409-9094-22 - First Offer	\$1.42	750 / each	\$1,065.00
Product Co Agency No	ode: 310055045305 otes:		Supplier Product Code: 37 Supplier Notes:	79094	
20041JLS- -01-22	Vial: ND	C # 0409-4755-03 - First Offer	\$0.51	1500 / each	\$765.00
Product Co Agency No	ode: 310055099154 otes:		Supplier Product Code: 47 Supplier Notes:	755-02	
20041JLS- -01-23	Vial: ND	C # 0409-4887-10 - First Offer	\$1.13	300 / each	\$339.00
Product Co Agency No	ode: 310055099174 otes:		Supplier Product Code: 00 Supplier Notes:	)74488710	
20041JLS- -01-24	Vial: ND	C # 0409-6695-01 - First Offer	\$6.93	1000 / each	\$6,930.00
Product Co Agency No	ode: 310055099203 otes:		Supplier Product Code: 66 Supplier Notes:	595-01	
20041JLS- -01-25	Vial: ND	C # 0409-2290-31 - First Offer	\$1.23	1000 / each	\$1,230.00
Product Co Agency No	ode: 310055099317 otes:		Supplier Product Code: 03 Supplier Notes:	376-25	
20041JLS- -01-26	Vial: ND	C # 0409-3796-01 - First Offer	\$2.32	1000 / each	\$2,320.00
Product Co Agency No	ode: 310055099504 otes:		Supplier Product Code: 37 Supplier Notes:	796-01	
20041JLS- -01-27		C # 0409-3796-19 - First Offer	\$2.32	150 / each	\$348.00
Product Co Agency No	ode: 310055099504 otes:		Supplier Product Code: 37 Supplier Notes:	796-01	
20041JLS- -01-28	Vial: ND	C # 0409-9558-10 - First Offer	\$6.95	100 / each	\$695.00
Product Co Agency No	ode: 310055099856 otes:		Supplier Product Code: 95 Supplier Notes:	558-10	
20041JLS- -01-29	Vial: ND	C # 63323-563-10 - First Offer	\$11.86	50 / each	\$593.00
Product Co Agency No	ode: 310055099857 otes:		Supplier Product Code: 01 Supplier Notes:	66-41	
20041JLS- -01-30	Vial: ND	C # 0065-0741-14 - First Offer	\$12.84	300 / each	\$3,852.00
Product Co Agency No			Supplier Product Code: 07 Supplier Notes:	741-14	
					<b>Lot Total:</b> \$699,914.90
Item#	Line Item		Unit Price	Qty/Unit	Total Price
20041JLS- -02-01	Saline: NDC =	# 03389-54206-20 - First Offer	\$2.49	960 / each	\$2,390.40
Product Co Agency No	ode: 210055040005 otes:		Supplier Product Code: 35 Supplier Notes:	58001	
20041JLS- -02-02	Saline: ND	C# 0338-0049-02 - First Offer	\$2.49	1440 / each	\$3,585.60
Product Co Agency No	ode: 210055040065 otes:		Supplier Product Code: 35 Supplier Notes:	58002	
20041JLS-	Saline: ND	C # 0338-0049-01 - First Offer	\$2.49	960 / each	\$2,390.40
-02-03					

RMACEUTI	CALS FOR			
20041JLS- -02-04	Saline: NDC # 0338-0049-48 - First Offer	\$2.02	2880 / each	\$5,817.60
Product Co Agency No	ode: 210055099413 otes:	Supplier Product Code: 3: Supplier Notes:	58437	
20041JLS- -02-05	Saline: NDC # 0409-4888-10 - First Offer	\$0.34	15000 / each	\$5,100.00
Product Co Agency No	ode: 310055099173	Supplier Product Code: 60 Supplier Notes:	00-10	
20041JLS- -02-06	Saline: NDC # 0409-7984-13 - First Offer	1	19200 / each	\$36,480.00
Product Co	ode: 310055099489	Supplier Product Code: 60 Supplier Notes:	01306	
				<b>Lot Total:</b> \$55,764.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
20041JLS- -03-01	PFS/Luer: NDC # 0409-4904-34 - First Offer	\$3.88	60 / each	\$232.80
Product Co Agency No	ode: 310055020003 otes:	Supplier Product Code: 00 Supplier Notes:	074490301	
20041JLS- -03-02	PFS/Luer: NDC # 76329-3339-1 - First Offer	\$11.05	2000 / each	\$22,100.00
Product Co Agency No	ode: 310055020007 otes:	Supplier Product Code: 3 Supplier Notes:	71006	
20041JLS- -03-03	PFS/Luer: NDC # 76329-3301-1 - First Offer	\$14.10	2600 / each	\$36,660.00
Product Co Agency No	ode: 310055020009 otes:	Supplier Product Code: 3 Supplier Notes:	73301	
20041JLS- -03-04	PFS/Luer: NDC # 0409-1775-10 - First Offer	\$11.11	1000 / each	\$11,110.00
Product Co Agency No	ode: 310055020010 otes:	Supplier Product Code: 3 Supplier Notes:	71775	
20041JLS- -03-05	PFS/Luer: NDC # 76329-3316-1 - First Offer	\$9.65	5000 / each	\$48,250.00
Product Co Agency No	ode: 310055020015 otes:	Supplier Product Code: 3 Supplier Notes:	73316	
20041JLS- -03-06	PFS/Luer: NDC # 76329-3390-1 - First Offer	\$6.22	700 / each	\$4,354.00
Product Co Agency No	ode: 310055020028 otes:	Supplier Product Code: 3' Supplier Notes:	73390	
20041JLS- -03-07	PFS/Luer: NDC # 0409-1639-10 - First Offer	\$19.65	1800 / each	\$35,370.00
Product Co Agency No	ode: 310055020034 otes:	Supplier Product Code: 3' Supplier Notes:	79631	
20041JLS- -03-08	PFS/Luer: NDC # 0409-5534-34 - First Offer	\$13.00	700 / each	\$9,100.00
Product Code: 310055020065 Agency Notes:		Supplier Product Code: 00 Supplier Notes:	074553401	
20041JLS- -03-09	PFS/Luer: NDC # 0409-2339-34 - First Offer	\$9.16	600 / each	\$5,496.00
Product Co Agency No	ode: 310055020124 otes:	Supplier Product Code: 3' Supplier Notes:	72339	
20041JLS- -03-10	PFS/Luer: NDC # 76329-3369-1 - First Offer	\$30.50	2500 / each	\$76,250.00
Product Co Agency No	ode: 310055099321	Supplier Product Code: 3' Supplier Notes:	73369	

TIVIACEUTIV	CALSTOR			
20041JLS- -03-11	PFS/Luer: NDC # 25021-301-67 - First Offer	\$17.60	1100 / each	\$19,360.00
Product Co Agency No	ode: 310055099431 ites:	Supplier Product Code: 06 Supplier Notes:	551-02	
20041JLS- -03-12	PFS/Luer: NDC # 25021-301-68 - First Offer	\$25.33	1000 / each	\$25,330.00
Product Co Agency No	ode: 310055099432 tes:	Supplier Product Code: 03 Supplier Notes:	301-68	
20041JLS- -03-13	PFS/Luer: NDC #76329-3304-1 - First Offer	\$11.72	600 / each	\$7,032.00
Product Co Agency No	ode: 310055099521 tes:	Supplier Product Code: 37 Supplier Notes:	73304	
				<b>Lot Total:</b> \$300,644.80
Item#	Line Item	Unit Price	Qty/Unit	Total Price
20041JLS- -04-01	Miscellaneous: NDC # 0283-0679-02 - First Offer	\$36.15	300 / each	\$10,845.00
Product Co Agency No	ode: 210055020125 tes:	Supplier Product Code: 37 Supplier Notes:	7501	
20041JLS- -04-02	Miscellaneous: NDC # 0338-0004-03 - First Offer	\$2.82	3000 / each	\$8,460.00
Product Co Agency No	ode: 210055040002 tes:	Supplier Product Code: 60 Supplier Notes:	)7113	
20041JLS- -04-03	Miscellaneous: NDC # 57896-911-36 - First Offer	\$0.75	1024 / each	\$768.00
Product Co Agency No	ode: 310055020005 tes:	Supplier Product Code: 91 Supplier Notes:	11316	
20041JLS- -04-04	Miscellaneous: NDC # 54288-103-10 - First Offer	\$13.44	700 / each	\$9,408.00
Product Co Agency No	ode: 310055020014 tes:	Supplier Product Code: 10 Supplier Notes:	)3-10	
20041JLS- -04-05	Miscellaneous: NDC # 0338-0017-48 - First Offer	\$2.96	450 / each	\$1,332.00
Product Co Agency No	ode: 310055020016 tes:	Supplier Product Code: 11 Supplier Notes:	18-2B0087EA	
20041JLS- -04-06	Miscellaneous: NDC # 0264-9594-20 - First Offer	\$6.62	200 / each	\$1,324.00
Product Co Agency No	ode: 310055020027 tes:	Supplier Product Code: 95 Supplier Notes:	594-20	
20041JLS- -04-07	Miscellaneous: NDC # 00574-0069 - First Offer	\$3.95	700 / each	\$2,765.00
Product Co Agency No	ode: 310055020033 tes:	Supplier Product Code: 46 Supplier Notes:	56930	
20041JLS- -04-08	Miscellaneous: PART# 231209G - First Offer	\$12.22	30 / box	\$366.60
Product Co Agency No	ode: 310055020037 tes:	Supplier Product Code: F4 Supplier Notes:	1122	
20041JLS- -04-09	Miscellaneous: NDC # 76299-430-08 - First Offer	\$170.99	300 / each	\$51,297.00
Product Co Agency No	ode: 310055020054 tes:	Supplier Product Code: 19 Supplier Notes:	911-43008	
20041JLS- -04-10	Miscellaneous: NDC # 24208-920-64 - First Offer	\$89.99	300 / each	\$26,997.00
Product Co Agency No	ode: 310055020071	Supplier Product Code: 37 Supplier Notes:	72121	

20041JLS- -04-11	Miscellaneous: NDC # 67777-251-01 - First Offer	\$3.28	600 / box	\$1,968.00
				, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Product Coo Agency Not	de: 310055020078 res:	Supplier Product Code: 90 Supplier Notes:	00234	
20041JLS- -04-12	Miscellaneous: NDC # 0281-0326-30 - First Offer	\$44.21	200 / each	\$8,842.00
Product Cod Agency Not	de: 310055020121 es:	Supplier Product Code: 37 Supplier Notes:	73830	
20041JLS- -04-13	Miscellaneous: NDC # 45802-410-59 - First Offer	\$1.69	200 / each	\$338.00
	de: 310055020123	Supplier Product Code: 04	410-59	
Agency Not		Supplier Notes:	26 /h	#22.700.0C
20041JLS- -04-14	Miscellaneous: NDC # 11704-370-01 - First Offer	\$936.36	36 / each	\$33,708.96
Product Coo Agency Not	de: 310055020145 res:	Supplier Product Code: 03 Supplier Notes:	370-01	
20041JLS- -04-15	Miscellaneous: NDC # 0338-1007-03 - First Offer	\$264.86	200 / case	\$52,972.00
Product Coo Agency Not	de: 310055020161 res:	Supplier Product Code: 37 Supplier Notes:	77809	
20041JLS- -04-16	Miscellaneous: NDC # 0002-8031-01 - First Offer	\$346.78	500 / each	\$173,390.00
Product Coo Agency Not	de: 310055020162 res:	Supplier Product Code: 000002145001 Supplier Notes:		
20041JLS- -04-17	Miscellaneous: NDC # 63653-1171-3 - First Offer	\$79.17	100 / pack	\$7,917.00
Product Cod Agency Not	de: 310055020173 es:	Supplier Product Code: 1' Supplier Notes:	171-03	
20041JLS- -04-18	Miscellaneous: NA - First Offer	\$11.69	120 / each	\$1,402.80
Product Cod Agency Not	de: 310055020174 es:	Supplier Product Code: 66 Supplier Notes:	50267	
20041JLS- -04-19	Miscellaneous: NDC # 00597-0260-10 - First Offer	\$158.90	475 / each	\$75,477.50
Product Cod Agency Not	de: 310055020175 es:	Supplier Product Code: 05 Supplier Notes:	593-03	
20041JLS- -04-20	Miscellaneous: NDC # 0338-1007-02 - First Offer	\$12.80	600 / each	\$7,680.00
Product Cod Agency Not	de: 310055020176	Supplier Product Code: 1' Supplier Notes:	18-2B0842EA	
20041JLS- -04-21	Miscellaneous: NDC # 0904-1985-00 - First Offer	\$3.79	250 / each	\$947.50
Product Coc Agency Not	de: 310055099155 res:	Supplier Product Code: 03 Supplier Notes:	305-01	
20041JLS- -04-22	Miscellaneous: NDC # 0071-0418-13 - First Offer	\$1.66	500 / each	\$830.00
Product Coc Agency Not	de: 310055099240 :es:	Supplier Product Code: 04 Supplier Notes:	418-13	
20041JLS- -04-23	Miscellaneous: NDC # 0487-9501-01 - First Offer	\$0.18	7000 / each	\$1,260.00
Product Coc Agency Not	de: 310055099274 es:	Supplier Product Code: 37 Supplier Notes:	79501	
20041JLS- -04-24	Miscellaneous: NDC # 0487-9801-01 - First Offer	\$0.36	5000 / each	\$1,800.00
Due duret Co	de: 310055099275	Supplier Product Code: 02	201-01	

Agency Not	tes:	Supplier Notes:		
20041JLS- -04-25	Miscellaneous: NDC # 69547-353-02 - First Offer	\$46.90	260 / each	\$12,194.00
Product Co Agency Not	<b>de:</b> 310055099316 <b>tes:</b>	Supplier Product Code: 03 Supplier Notes:	353-02	
20041JLS- -04-26	Miscellaneous: NDC # 0781-5238-64 - First Offer	\$0.17	1500 / each	\$255.00
Product Co	<b>de:</b> 310055099502 <b>tes:</b>	Supplier Product Code: 0390-10 Supplier Notes:		
20041JLS- -04-27	Miscellaneous: PART # 40ZLUB - First Offer	\$1.78	50 / each	\$89.00
Product Co Agency Not	<b>de:</b> 500055020023 <b>tes:</b>	Supplier Product Code: 1340-13140 Supplier Notes:		
20041JLS- -04-28	Miscellaneous: PART # T00137 - First Offer	\$0.07	53856 / each	\$3,769.92
Product Co	de: 500055020025 tes:	Supplier Product Code: 4- Supplier Notes:	40128	
				<b>Lot Total:</b> \$498,404.28

## VITI PHARMACEUTICALS, LLC

\$9,821,392.50 (30/77 items)

Bid Contact CHRISTINE FORREST

Christy@vitipharma.com
Ph 305-503-2904

Fax 786-362-7142

Address **1390 SOUTH DIXIE HWY, STE 2225 CORAL GABLES, FL 33146** 

Agency Notes:			Supplier Notes:		
Item#	Line Item		Unit Price	Qty/Unit	Total Price
20041JLS- -01-01		Vial: NDC # 0409-6629-02 - First Offer	\$599.00	150 / each	\$89,850.00
Product Co Agency No	ode: 310055020029 otes:		Supplier Product Code: Supplier Notes: QUELICIN/SUCCINYL 20MG	/ML MDV25X1	0ML 25 EA / BX
20041JLS- -01-02		Vial: NDC # 63323-064-04 - First Offer	\$50.00	500 / each	\$25,000.00
Product Code: 310055020030 Agency Notes:		Supplier Product Code: 63323-0064-03 Supplier Notes: MAGNESIUM SULF 50% SDV 25X2ML			
20041JLS- -01-03		Vial: NDC # 0409-8060-29 - First Offer	\$75.00	1000 / each	\$75,000.00
Product Co	ode: 310055020031		Supplier Product Code: 00	409-6695-01	

Agency Not	tes:		Supplier Notes: AMIDATE 2	2MG/ML SDV 1	0X10ML
20041JLS- -01-04	Vial: NDC # 0409-23	08-02			No Bids
Agency Not	tes:		Supplier Product Code: Supplier Notes:		
20041JLS- -01-05		Vial: NDC # 0409-6625-02 - First Offer	\$320.00	1500 / each	\$480,000.00
Product Co Agency Not	<b>de:</b> 310055020064 <b>tes:</b>		Supplier Product Code: Supplier Notes: SODIUM BICARBONATE 8.4	% SDV 25X50N	ЛL
20041JLS- -01-06		Vial: NDC # 0009-0047-25 - First Offer	\$315.00	700 / each	\$220,500.00
Product Co Agency Not	<b>de:</b> 310055020122 <b>tes:</b>		Supplier Product Code: 00 Supplier Notes: 00009-0047-22 SOLU-MEDROL 125MG PF A		ML
20041JLS- -01-07		Vial: NDC # 17478-937-05 - First Offer	\$29.00	2000 / each	\$58,000.00
Product Co Agency Not	<b>de:</b> 310055020128 <b>tes:</b>		Supplier Product Code: 00 Supplier Notes: 00409-117 MBO-DILTIAZEM HCL 5MG/	71-01	ЛL
20041JLS- -01-08		Vial: NDC # 0641-6006-10 - First Offer	\$445.00	200 / each	\$89,000.00
Product Co Agency Not	<b>de:</b> 310055020140 <b>tes:</b>		Supplier Product Code: Supplier Notes: ATROPINE	0.4MG/ML MI	DV 10X20ML
20041JLS- -01-09		Vial: NDC # 60977-141-01 - First Offer	\$640.00	20 / each	\$12,800.00
Product Co Agency Not	<b>de:</b> 310055020147 <b>tes:</b>		Supplier Product Code: Supplier Notes: PROTOPAL	M 1GM SDV 6/	BX
20041JLS- -01-10		Vial: NDC # 17478-542-02 - First Offer	\$42.00	1000 / each	\$42,000.00
Product Co Agency Not	<b>de:</b> 310055020155 <b>tes:</b>		Supplier Product Code: Supplier Notes: ADENOSINE 3MG/ML SDV 10X2ML		
20041JLS- -01-11		Vial: NDC # 63323-651-04 - First Offer	\$250.00	1000 / each	\$250,000.00
Product Co Agency Not	<b>de:</b> 310055020156 <b>tes:</b>		Supplier Product Code: Supplier Notes: ADENOSINE 3MG/ML SDV 10 X 4ML		
20041JLS- -01-12		Vial: NDC # 42023-168-01 - First Offer	\$270.00	1000 / each	\$270,000.00
Product Co Agency Not	<b>de:</b> 310055020157 <b>tes:</b>		Supplier Product Code: Supplier Notes: ADRENALI	N 1 MG/ML MI	DV 30 ML
20041JLS- -01-13		Vial: NDC # 63323-064-03 - First Offer	\$52.00	1000 / each	\$52,000.00

RMACEUTI	CALS FOR					
Product Co Agency No	ode: 310055020158 otes:		Supplier Product Code: Supplier Notes: MAGNESIU	JM SULF 50% S	SDV 25X2ML	
20041JLS- -01-14	Vial: NDC # 47335-931-44				No Bids	
Agency No	otes:		Supplier Product Code: Supplier Notes:			
20041JLS- -01-15	Vial: NDC # 040	09-1219-01 - First Offer	\$3,560.00	1600 / each	\$5,696,000.00	
Product Co Agency No	ode: 310055020163 otes:		Supplier Product Code: Supplier Notes: NALOXONE HCL 0.4MG/ML	. MDV 25X10M	L	
20041JLS- -01-16	Vial: NDC # 040	09-4888-20 - First Offer	\$42.00	200 / each	\$8,400.00	
Product Co Agency No	ode: 310055020165 otes:		Supplier Product Code: Supplier Notes: SODIUM CHLORIDE 0.9% SI	DV 25X20ML		
20041JLS- -01-17	Vial: NDC # 633	323-474-01 - First Offer	\$172.00	300 / box	\$51,600.00	
Product Code: 310055020166 Agency Notes:			Supplier Product Code: Supplier Notes: HALOPERIDOL LAC 5MG/M	L SDV 25X1ML		
20041JLS- -01-18	Vial: NDC # 040	09-3375-04 - First Offer	\$260.00	140 / each	\$36,400.00	
Product Co Agency No	ode: 310055020167 otes:		Supplier Product Code: Supplier Notes: LEVOPHED 1MG/ML SDV 10X4ML			
20041JLS- -01-19	Vial: NDC # 040	09-9104-20 - First Offer	\$68.00	700 / each	\$47,600.00	
Product Code: 310055020169 Agency Notes:			Supplier Product Code: Supplier Notes: DOPAMINE HCL 40MG/ML SDV 25X10ML			
20041JLS- -01-20	Vial: NDC # 633	323-616-03 - First Offer	\$48.00	2500 / each	\$120,000.00	
Product Co Agency No	ode: 310055045060 otes:		Supplier Product Code: Supplier Notes: AMIODARONE HCL 50MG/I	ML SDV 25X3M	L	
20041JLS- -01-21	Vial: NDC # 040	09-9094-22 - First Offer	\$19.99	750 / each	\$14,992.50	
Product Co Agency No	ode: 310055045305 otes:		Supplier Product Code: 00409475503 Supplier Notes:			
20041JLS- -01-22	Vial: NDC # 040	09-4755-03 - First Offer	\$19.99	1500 / each	\$29,985.00	
Product Code: 310055099154 Agency Notes:		Supplier Product Code: Supplier Notes: ONDANSETRON 2MG/ML SDV 25X2ML 00409475503				
20041JLS- -01-23	Vial: NDC # 040	09-4887-10 - First Offer	\$65.00	300 / each	\$19,500.00	
Product Code: 310055099174 Agency Notes:		Supplier Product Code: Supplier Notes: STERILE WATER FOR INJ SDV 25X10ML				
20041JLS- -01-24	Vial: NDC # 0409-6695-01				No Bids	
Agency No	otes:		Supplier Product Code: Supplier Notes:			
20041JLS- -01-25	Vial: NDC # 040	09-2290-31 - First Offer	\$29.00	1000 / each	\$29,000.00	
Product Co	ode: 310055099317		Supplier Product Code:			

RIVIACEUTI	CALS FOR				
Agency No	etes:	Supplier Notes:  DIPHENHYDRAMINE 50MG/ML PFS 10X1ML			
20041JLS- -01-26	Vial: NDC # 0409-3796-01 - First Offer	\$52.00	1000 / each	\$52,000.00	
Product Co Agency No	ode: 310055099504 stes:	Supplier Product Code: Supplier Notes: KETOROLAC TRO 30MG/MI	SDV 25X2ML		
20041JLS- -01-27	Vial: NDC # 0409-3796-19			No Bids	
Agency No	ites:	Supplier Product Code: Supplier Notes:			
20041JLS- -01-28	Vial: NDC # 0409-9558-10 - First Offer	\$72.00	100 / each	\$7,200.00	
Product Co Agency No	ode: 310055099856 otes:	Supplier Product Code: Supplier Notes: ROCURONIUM BROM 10M	G/ML MDV 10X	(10ML	
20041JLS- -01-29	Vial: NDC # 63323-563-10 - First Offer	\$4.90	50 / each	\$245.00	
Product Co Agency No	ode: 310055099857 ites:	Supplier Product Code: Supplier Notes: TRANEXAMIC ACID 100MG/	/ML SDV 10X10	DML	
20041JLS- -01-30	Vial: NDC # 0065-0741-14 - First Offer	\$152.00	300 / each	\$45,600.00	
Product Co Agency No		Supplier Product Code: Supplier Notes: TETRACAINE HCL 0.5% UD OPH SOLN 12X4ML			
				<b>Lot Total:</b> \$7,822,672.50	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
20041JLS- -02-01	Saline: NDC # 03389-54206-20 - First Offer	\$130.00	960 / each	\$124,800.00	
Product Co Agency No	ode: 210055040005 ites:	Supplier Product Code: Supplier Notes: SOLUTION 24 BG / CS	I,NACL,INJ,0.9%	6,500ML,BAG	
20041JLS- -02-02	Saline: NDC # 0338-0049-02 - First Offer	\$170.00	1440 / each	\$244,800.00	
Product Co Agency No	ode: 210055040065 ites:	Supplier Product Code: Supplier Notes: SOLUTION,SOD CHL,0.9%,2 36 BG / CS	:50ML,INJ,BAG		
20041JLS- -02-03	Saline: NDC # 0338-0049-01 - First Offer	\$89.00	960 / each	\$85,440.00	
Product Co Agency No	ode: 210055040070 vtes:	Supplier Product Code: Supplier Notes: SOLUTION,NACL,INJ,0.9%,1 14 EA / CS	000ML,BAG		
20041JLS- -02-04	Saline: NDC # 0338-0049-48 - First Offer	\$536.00	2880 / each	\$1,543,680.00	
Product Co Agency No	ode: 210055099413 otes:	Supplier Product Code: Supplier Notes: SOLUTION 80 EA / CS	I,SODIUM CHL	OR,INJ,0.9%,100ML	
20041JLS- -02-05	Saline: NDC # 0409-4888-10			No Bids	
Agency No	rtes:	Supplier Product Code: Supplier Notes:			
20041JLS-	Saline: NDC # 0409-7984-13			No Bids	

-02-06	CALS FOR 			
Agency No	otes:	Supplier Product Code: Supplier Notes:	I	
				<b>Lot Total:</b> \$1,998,720.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
20041JLS- -03-01	PFS/Luer: NDC # 0409-4904-34			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-02	PFS/Luer: NDC # 76329-3339-1			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-03	PFS/Luer: NDC # 76329-3301-1			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-04	PFS/Luer: NDC # 0409-1775-10			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-05	PFS/Luer: NDC # 76329-3316-1			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-06	PFS/Luer: NDC # 76329-3390-1			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-07	PFS/Luer: NDC # 0409-1639-10			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-08	PFS/Luer: NDC # 0409-5534-34			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-09	PFS/Luer: NDC # 0409-2339-34			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-10	PFS/Luer: NDC # 76329-3369-1			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
20041JLS- -03-11	PFS/Luer: NDC # 25021-301-67			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-12	PFS/Luer: NDC # 25021-301-68			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS-	PFS/Luer: NDC #76329-3304-1			No Bids

Agency N	otes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
20041JLS- -04-01	Miscellaneous: NDC # 0283-0679-02			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-02	Miscellaneous: NDC # 0338-0004-03			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-03	Miscellaneous: NDC # 57896-911-36			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-04	Miscellaneous: NDC # 54288-103-10			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-05	Miscellaneous: NDC # 0338-0017-48			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-06	Miscellaneous: NDC # 0264-9594-20			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
20041JLS- -04-07	Miscellaneous: NDC # 00574-0069			No Bids
Agency N		Supplier Product Code: Supplier Notes:		
20041JLS- -04-08	Miscellaneous: PART# 231209G			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-09	Miscellaneous: NDC # 76299-430-08			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-10	Miscellaneous: NDC # 24208-920-64			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-11	Miscellaneous: NDC # 67777-251-01			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-12	Miscellaneous: NDC # 0281-0326-30			No Bids
Agency N	otes:	Supplier Product Code: Supplier Notes:		
20041JLS-	Miscellaneous: NDC # 45802-410-59			No Bids

CALS FOR		
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 11704-370-01		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 0338-1007-03		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 0002-8031-01		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 63653-1171-3		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NA		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 00597-0260-10		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 0338-1007-02		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 0904-1985-00		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 0071-0418-13		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 0487-9501-01		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 0487-9801-01		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 69547-353-02		No Bids
otes:	Supplier Product Code: Supplier Notes:	
Miscellaneous: NDC # 0781-5238-64		No Bids
otes:	Supplier Product Code: Supplier Notes:	
	Miscellaneous: NDC # 11704-370-01  Intes:  Miscellaneous: NDC # 0338-1007-03  Intes:  Miscellaneous: NDC # 0002-8031-01  Intes:  Miscellaneous: NDC # 63653-1171-3  Intes:  Miscellaneous: NDC # 00597-0260-10  Intes:  Miscellaneous: NDC # 0338-1007-02  Intes:  Miscellaneous: NDC # 0338-1007-02  Intes:  Miscellaneous: NDC # 0904-1985-00  Intes:  Miscellaneous: NDC # 0901-0418-13  Intes:  Miscellaneous: NDC # 0487-9501-01  Intes:  Miscellaneous: NDC # 0487-9801-01  Intes:  Miscellaneous: NDC # 0487-9801-01  Intes:  Miscellaneous: NDC # 0487-9801-01  Intes:  Miscellaneous: NDC # 69547-353-02  Intes:  Miscellaneous: NDC # 69547-353-02  Intes:	Autocellaneous: NDC # 0338-1007-03  Autocellaneous: NDC # 0002-8031-01  Autocellaneous: NDC # 63653-1171-3  Autocellaneous: NDC # 00597-0260-10  Autocellaneous: NDC # 00597-0260-10  Autocellaneous: NDC # 0338-1007-02  Autocellaneous: NDC # 0338-1007-02  Autocellaneous: NDC # 0904-1985-00  Autocellaneous: NDC # 0904-1985-00  Autocellaneous: NDC # 0071-0418-13  Autocellaneous: NDC # 0487-9501-01  Autocellaneous: NDC # 0487-9501-01

bid #20041JLS -PHARMACEUTICALS FOR

20041JLS- -04-27	Miscellaneous: PART # 40ZLUB		No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:	
20041JLS- -04-28	Miscellaneous: PART # T00137		No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:	
			Lot Total: \$0.00

Medline Industries, Inc.

\$1,627,326.59 (76/77 items)

Bid Contact Lucas McGovern

GovBids@medline.com

Ph 847-643-4928

Address **Three Lakes Drive Northfield, IL 60093** 

Supplier Code 240705

**Bid Notes** 

Please note that Medline's sold as UOM/pricing is located in the notes. However, pricing was broken down by the UOM per the entities request. Please review all attached documents and any exceptions, in regards to

pricing terms.

We tried uploading the submittals portion, however, there is nowhere to upload the document, so all the documentation has been uploaded to the last item in the bid.

**Agency Notes:** 

**Supplier Notes:** Please note that Medline's sold as UOM/pricing is located in the notes. However, pricing was broken down by the UOM per the entities request. Please review all attached documents and any exceptions, in regards to pricing terms.

We tried uploading the submittals portion, however, there is nowhere to upload the document, so all the documentation has been uploaded to the last item in the bid.

Item#	Line Item	Unit Price	Qty/Unit	Total Price
20041JLS-	Vial: NDC # 0409-6629-02 - First Offer	\$21.89	150 / each	\$3,283.50
-01-01				

**Product Code:** 310055020029

**Agency Notes:** 

Supplier Product Code: 0409-6629-02 Supplier Notes: 25 EA/BX=\$547.13

QUELICIN/SUCCINYL 20MG/ML MDV25X10ML

bid #20041JLS -PHARMACEUTICALS FOR

	Alt 1	\$21.89	150 / each	\$3,283.50
Product Code: 3100550200 Agency Notes:	029	Supplier Product Code: 04 Supplier Notes: 25 EA/BX= QUELICIN/SUCCINYL 20MG	\$547.13	IOML
20041JLS- -01-02	Vial: NDC # 63323-064-04 - First Offer	\$1.90	500 / each	\$950.00
Product Code: 3100550200 Agency Notes:		Supplier Product Code: 63 Supplier Notes: 25 EA/BX= MAGNESIUM SULF 50% SD	\$47.58 V 25X10ML	
	Alt 1	\$1.90	500 / each	\$950.00
Product Code: 3100550200 Agency Notes:	030	Supplier Product Code: 63 Supplier Notes: 25 EA/BX= MAGNESIUM SULF 50% SD	\$47.58	

20041JLS- -01-03		Vial: NDC # 0409-8060-29 - First Offer	\$4.89	1000 / each	\$4,890.00
	ode: 310055020031 ptes:		Supplier Product Code: 55 Supplier Notes: 10 EA/BX= ETOMIDATE 2MG/ML SDV 1	\$48.94	
Product Co Agency No	ode: 310055020031 otes:	Alt 1	\$4.89  Supplier Product Code: 55  Supplier Notes: 10 EA/BX= ETOMIDATE 2MG/ML SDV 1	\$48.94	\$4,890.00

20041JLS- -01-04	Vial: NDC # 0409-2308-02 -	- First Offer	\$6.99	1000 / each	\$6,990.00
Product Code: 310055020063 Agency Notes:			Supplier Product Code: BN Supplier Notes: 24 EA / CS- MBO-SOL,0.4 PERC LIDOCN	=\$167.96	DEX
		Alt 1	\$6.99	1000 / each	\$6,990.00
Product Code: 310055020063 Agency Notes:		, ac i	Supplier Product Code: BN Supplier Notes: 24 EA / CS: MBO-SOL,0.4 PERC LIDOCN	ИGP5942 =\$167.96	
20041JLS- -01-05	Vial: NDC # 0409-6625-02 -	- First Offer	\$10.34	1500 / each	\$15,510.00
Product Code: 310055020064 Agency Notes:			Supplier Product Code: 04 Supplier Notes: 25 EA/BX= SODIUM BICARBONATE 8.4	\$258.46	ЛL

	O'ALEG T GIX				
Agency No	ode: 310055020064 otes:	Alt 1	\$10.34  Supplier Product Code: 04 Supplier Notes: 25 EA/BX= SODIUM BICARBONATE 8.4	\$258.46	
20041JLS- -01-06 Product Co Agency No	ode: 310055020122	Vial: NDC # 0009-0047-25 - First Offer	\$8.63  Supplier Product Code: 00 Supplier Notes: 25 EA/BX= SOLU-MEDROL 125MG PF A	\$215.72	\$6,041.00

### Broward Sheriff's Office

20041JLS-	CALS FOR	Vial: NDC # 17478-937-05 - First Offer	\$2.86	2000 / each	\$5,720.00
-01-07  Product Cc Agency No	ode: 310055020128 tes:		Supplier Product Code: 04 Supplier Notes: 10 EA/BX MBO-DILTIAZEM HCL 5MG/		ML
20041JLS- -01-08		Vial: NDC # 0641-6006-10 - First Offer	\$38.77	200 / each	\$7,754.00
Product Cc Agency No	de: 310055020140 tes:		Supplier Product Code: 06 Supplier Notes: 10 EA/BX= ATROPINE 0.4MG/ML MDV	\$387.63	
20041JLS- -01-09		Vial: NDC # 60977-141-01 - First Offer	\$90.87	20 / each	\$1,817.40
	ode: 310055020147 tes:		Supplier Product Code: 60 Supplier Notes: 6 EA/BX=\$ PROTOPAM 1GM SDV 6/BX	545.24	
20041JLS- -01-10		Vial: NDC # 17478-542-02 - First Offer	\$3.50	1000 / each	\$3,500.00

	O/ILO I OIK				
	ode: 310055020155		Supplier Product Code: 17 Supplier Notes: 10 EA/BX= ADENOSINE 3MG/ML SDV 1	\$35.03	
20041JLS- -01-11		Vial: NDC # 63323-651-04 - First Offer	\$23.49	1000 / each	\$23,490.00
Product Co Agency No	ode: 310055020156		Supplier Product Code: 63 Supplier Notes: 10 EA/BX= ADENOSINE 3MG/ML SDV 1	\$234.93	
20041JLS- -01-12		Vial: NDC # 42023-168-01 - First Offer	\$266.07	1000 / each	\$266,070.00
Product Co Agency No	ode: 310055020157		Supplier Product Code: 42 Supplier Notes: ADRENALIN 1MG/ML MDV		
20041JLS- -01-13		Vial: NDC # 63323-064-03 - First Offer	\$1.74	1000 / each	\$1,740.00
	ode: 310055020158		Supplier Product Code: 63	323-064-03	

### Broward Sheriff's Office

Agency No		I .		
	tes:	Supplier Notes: 25 EA/BX=		
		MAGNESIUM SULF 50% SD\	/ 25X2ML	
				I
20041JLS-	Vial: NDC # 47335-931-44 - First Offer	\$4.68	250 / each	\$1,170.00
-01-14				
	<b>de:</b> 310055020160	Supplier Product Code: 55		
Agency No	tes:	Supplier Notes: 10 EA/BX=	\$46.83	
		MBO-VECURONIUM BROM		10/DV
		INIBO-VECORONIONI BROM	IDE TOIVIG VL	IU/BX
20041JLS-	Vial: NDC # 0409-1219-01 - First Offer	\$133.13	1600 / each	\$213,008.00
20041JLS- -01-15	Vial: NDC # 0409-1219-01 - First Offer	\$133.13	1600 / each	\$213,008.00
-01-15				\$213,008.00
-01-15 Product Co	<b>de:</b> 310055020163	Supplier Product Code: 04	09-1219-01	\$213,008.00
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04	09-1219-01 \$3,328.28	
-01-15 Product Co	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 Product Co	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 Product Co	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 <b>Product Co</b>	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15 Product Co	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS=	09-1219-01 \$3,328.28	
-01-15  Product Co Agency No	de: 310055020163 tes:	Supplier Product Code: 04 Supplier Notes: 25 EA/CS= NALOXONE HCL 0.4MG/ML	09-1219-01 \$3,328.28 MDV 25X10M	JL.
-01-15  Product Co Agency Nor	<b>de:</b> 310055020163	Supplier Product Code: 04 Supplier Notes: 25 EA/CS= NALOXONE HCL 0.4MG/ML	09-1219-01 \$3,328.28	JL .
-01-15  Product Co Agency Not  20041JLS01-16	de: 310055020163 tes: Vial: NDC # 0409-4888-20 - First Offer	Supplier Product Code: 04 Supplier Notes: 25 EA/CS= NALOXONE HCL 0.4MG/ML  \$1.26	09-1219-01 \$3,328.28 MDV 25X10M	
-01-15  Product Co Agency Not  20041JLS01-16	de: 310055020163 tes:  Vial: NDC # 0409-4888-20 - First Offer  de: 310055020165	Supplier Product Code: 04 Supplier Notes: 25 EA/CS= NALOXONE HCL 0.4MG/ML	09-1219-01 \$3,328.28 MDV 25X10M 200 / each	JL.

KINIACEUTI	CALSTOR		1		
			SODIUM CHLORIDE 0.9% SI	OV 25X20ML	
20041JLS- -01-17		Vial: NDC # 63323-474-01 - First Offer	\$160.79	300 / box	\$48,237.00
Agency No	ode: 310055020166 otes:		Supplier Product Code: 63 Supplier Notes: 25 EA/BX HALOPERIDOL LAC 5MG/M	L SDV 25X1ML	
20041JLS- -01-18		Vial: NDC # 0409-3375-04 - First Offer	\$22.94	140 / each	\$3,211.60
Product Cc Agency No	ode: 310055020167		Supplier Product Code: 04 Supplier Notes: 10 EA/BX= LEVOPHED 1MG/ML SDV 10	\$229.44	
20041JLS- -01-19		Vial: NDC # 0409-9104-20 - First Offer	\$2.43	700 / each	\$1,701.00
Product Co Agency No	ode: 310055020169 otes:		Supplier Product Code: 04 Supplier Notes: 25 EA/BX= MBO-DOPAMINE HCL 40M0	\$60.69	10ML

20041JLS- -01-20	Vial: NDC # 63323-616-03 - First Offer	\$1.55	2500 / each	\$3,875.00
Product Code: 310055045060 Agency Notes:		Supplier Product Code: 63 Supplier Notes: 25 EA/BX= MBO-AMIODARONE HCL 56	\$38.73	5X3ML
20041JLS- Vial: NDC # 0409-90	)94-22			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:	<u> </u>	
20041JLS- -01-22	Vial: NDC # 0409-4755-03 - First Offer		1500 / each	\$750.00
Product Code: 310055099154 Agency Notes:		Supplier Product Code: 04 Supplier Notes: 25 EA/BX= ONDANSETRON 2MG/ML S	\$12.41	
20041JLS- -01-23	Vial: NDC # 0409-4887-10 - First Offer	\$0.94	300 / each	\$282.00
Product Code: 310055099174 Agency Notes:		Supplier Product Code: AE Supplier Notes: 25 EA/BX=		
Product Code: 310055099154 Agency Notes:  20041JLS01-23  Product Code: 310055099174		Supplier Product Code: 04 Supplier Notes: 25 EA/BX= ONDANSETRON 2MG/ML S  \$0.94  Supplier Product Code: AE	300 / each	\$282

20041JLS- -01-24		Vial: NDC # 0409-6695-01 - First Offer	\$6.42	1000 / each	\$6,420.00
Product Co Agency No	ode: 310055099203 ites:		Supplier Product Code: 04 Supplier Notes: 10 EA/BX= MBO-AMIDATE 2MG/ML SD	\$64.16	
20041JLS- -01-25		Vial: NDC # 0409-2290-31 - First Offer	\$2.05	1000 / each	\$2,050.00
	ode: 310055099317 ites:		Supplier Product Code: 04 Supplier Notes: 10 EA/BX= MBO-DIPHENHYDRAMINE:	\$20.50	10X1ML
20041JLS- -01-26		Vial: NDC # 0409-3796-01 - First Offer	\$1.70	1000 / each	\$1,700.00
Product Code: 310055099504 Agency Notes:		Supplier Product Code: 04 Supplier Notes: 25 EA/BX= KETOROLAC TRO 30MG/ML	\$42.62		

	Vial: NDC # 0409-3796-19 - First Offer	\$1.70	150 / each	\$255.00
Agency Notes:		Supplier Notes: 25 EA/BX=	\$42.62	
	Vial: NDC # 0409-9558-10 - First Offer	\$7.11	100 / each	\$711.00
otes:	Visit NDC # C2222 FC2 10 First Office	Supplier Notes: 10 EA/BX= ROCURONIUM BROM 10M	\$71.08 G/ML MDV 10)	
	Vial: NDC # 63323-563-10 - First Offer	\$21.56	50 / each	\$1,078.00
code: 310055099857 otes:		Supplier Product Code: 63 Supplier Notes: TRANEXAM		
		Code: 310055099504 otes:  Vial: NDC # 0409-9558-10 - First Offer Code: 310055099856 otes:	Code: 310055099504 otes:  Vial: NDC # 0409-9558-10 - First Offer  Supplier Product Code: 04 Supplier Notes: 25 EA/BX= KETOROLAC TRO 30MG/ML  Sode: 310055099856  Supplier Product Code: 04 Supplier Product Code: 04 Supplier Product Code: 04 Supplier Product Code: 04 Supplier Notes: 10 EA/BX= ROCURONIUM BROM 10M6	Supplier Product Code: 0409-3796-19 Supplier Notes: 25 EA/BX= \$42.62 KETOROLAC TRO 30MG/ML SDV 25X2ML  Vial: NDC # 0409-9558-10 - First Offer \$7.11   100 / each  Code: 310055099856 otes: Supplier Product Code: 0409-9558-10 Supplier Product Code: 0409-9558-10 Supplier Notes: 10 EA/BX=\$71.08 ROCURONIUM BROM 10MG/ML MDV 10)

 	CALS FOR			
20041JLS-	Vial: NDC # 0065-0741-14 - First Offer	\$134.51	300 / each	\$40,353.00
-01-30 Product Code: Agency Notes:		Supplier Product Code: 00 Supplier Notes: TETRACAINE HCL 0.5% UD		(4ML
Item#	Line Item	Unit Price	Qty/Unit	<b>Lot Total:</b> \$672,809.50 <b>Total Price</b>
20041JLS- -02-01	Saline: NDC # 03389-54206-20 - First Offer	\$4.23	960 / each	\$4,060.80
Agency No	Saline: NDC # 0338-0049-02 - First Offer	Supplier Notes: 18 EA / CS MBO-WATER,STERLE,IRRG,I		
-02-02	Saille. NDC # 0330-0049-02 - Filst Offer	\$4.00	14407 Each	\$5,040.40
Product Co Agency No	ode: 210055040065 otes:	Supplier Product Code: Bt Supplier Notes: SOLUTION 36 BG / CS=\$146.38		%,250ML,INJ,BAG
20041JLS-	Saline: NDC # 0338-0049-01 - First Offer	\$1.64	960 / each	\$1,574.40
-02-03				

bid #20041JLS -PHARMACEUTICALS FOR

Product Co Agency No	cals for ode: 210055040070 tes:	Supplier Product Code: BX Supplier Notes: SOLUTION 14 EA / CS=\$22.96		ORIDE,0.9%,1000ML
20041JLS- -02-04	Saline: NDC # 0338-0049-48 - First Offer	\$1.64	2880 / each	\$4,723.20
Product Co Agency No	ode: 210055099413 tes:	Supplier Product Code: BX Supplier Notes: 14 EA / CS SOLUTION,SODIUM CHLOR	=\$22.96	DML
20041JLS- -02-05	Saline: NDC # 0409-4888-10 - First Offer		15000 / each	\$13,050.00
Product Co Agency No	de: 310055099173 tes:	Supplier Product Code: AE Supplier Notes: SODIUM C 25 EA/BX=\$21.81		
20041JLS- -02-06	Saline: NDC # 0409-7984-13 - First Offer	· ·	19200 / each	\$51,264.00
Product Co Agency No	ode: 310055099489 tes:	Supplier Product Code: BF Supplier Notes: 96 BG / CS SOLUTN,SODIUM CHLOR,IN	=\$257.19	

				<b>Lot Total:</b> \$80,518.80
Item#	Line Item	Unit Price	Qty/Unit	Total Price
20041JLS- -03-01	PFS/Luer: NDC # 0409-4904-34 - First Offer	\$9.89	60 / each	\$593.40
Product Co Agency No	ode: 310055020003 otes:	Supplier Product Code: 04 Supplier Notes: MBO-LIDO 10 EA/BX= \$98.88		PFS 10X 5ML
20041JLS- -03-02	PFS/Luer: NDC # 76329-3339-1 - First Offer	\$11.52	2000 / each	\$23,040.00
Product Co Agency No	PFS/Luer: NDC # 76329-3301-1 - First Offer	Supplier Product Code: 04 Supplier Notes: MBO-ATRO 10 EA/BX= \$115.20		1MG/ML PFS 10X10ML \$37,310.00
-03-03	113/Luci. NDC # /0325-3301-1 - Filst Offer	<b>\$14.33</b>	2000 / Edc[]	\$37,510.00
Product Co Agency No	ode: 310055020009 otes:	Supplier Product Code: 76 Supplier Notes: MBO-DEX 10 EA/BX= \$143.51		5 10X50ML

D3-04   Product Code: 310055020010   Supplier Product Code: 0409-1775-10   Supplier Notes: MBO-DEXTROSE 25% PFS 10X10ML (INFANT)   10 EA/BX= \$104.43   \$47,23-05		,			
Supplier Product Code: 0409-1775-10		PFS/Luer: NDC # 0409-1775-10 - First Offer	\$10.44	1000 / each	\$10,440.00
Product Code: 310055020015 Agency Notes:  Supplier Product Code: 76329-3316-1 Supplier Notes: MBO-EPINEPHRINE 0.1 MG/ML PFS 10X10ML 10 EA/BX=\$95.07	Product Code: 3	310055020010	Supplier Notes: MBO-DEX		S 10X10ML (INFANT)
Product Code: 310055020015 Agency Notes:  Supplier Product Code: 76329-3316-1 Supplier Notes: MBO-EPINEPHRINE 0.1MG/ML PFS 10X10ML 10 EA/BX=\$95.07  20041JLS03-06  PFS/Luer: NDC # 76329-3390-1 - First Offer \$63.31 700 / each \$44,350.00 fter \$44,350.00		PFS/Luer: NDC # 76329-3316-1 - First Offer	\$9.51	5000 / each	\$47,550.00
-03-06	Agency Notes:		Supplier Notes: MBO-EPIN 10 EA/BX=\$95.07	IEPHRINE 0.1M	
		PFS/Luer: NDC # 76329-3390-1 - First Offer	\$63.31	700 / each	\$44,317.00
Product Code: 310055020028  Agency Notes:  Supplier Product Code: 76329-3390-1 Supplier Notes: LIDOCAINE 20MG/ML PF PFS 10X5ML		310055020028			PFS 10X5ML

### Broward Sheriff's Office

20041JLS- -03-07	PFS/Luer: NDC # 0409-1639-10 - First Offer	\$18.16	1800 / each	\$32,688.00
Product Co Agency No	de: 310055020034 tes:	Supplier Product Code: 04 Supplier Notes: !0 EA/BX=\$ MBO-FUROSEMIDE 10MG/N	181.56	ΛL
20041JLS- -03-08	PFS/Luer: NDC # 0409-5534-34 - First Offer	\$11.74	700 / each	\$8,218.00
		MBO-SODIUM BICARB INFT	4.2% PFS 10X	10ML
20041JLS- -03-09	PFS/Luer: NDC # 0409-2339-34 - First Offer	\$8.52	600 / each	\$5,112.00
Product Co Agency No	de: 310055020124 tes:	Supplier Product Code: 04 Supplier Notes: MBO-LABE 10 EA/BX=\$85.16		MG/ML PFS 10X4ML
20041JLS- -03-10	PFS/Luer: NDC # 76329-3369-1 - First Offer	\$35.31	2500 / each	\$88,275.00
Product Co Agency No	de: 310055099321 tes:	Supplier Product Code: 76 Supplier Notes: 10 EA/BX=		

RMACEUTI	SALS FOR	1		
		NALOXONE 2MG/2ML PFS	10X2ML	
20041JLS- -03-11	PFS/Luer: NDC # 25021-301-67 - First Offer	\$18.17	1100 / each	\$19,987.00
	ode: 310055099431 tes:	Supplier Product Code: 25 Supplier Notes: 10/BX=\$18 ADENOSINE 3MG/ML PFS 1	31.70	
20041JLS- -03-12	PFS/Luer: NDC # 25021-301-68 - First Offer	\$29.26	1000 / each	\$29,260.00
Product Co Agency No	ode: 310055099432 tes:	Supplier Product Code: 25 Supplier Notes: 10 EA/BX= ADENOSINE 3MG/ML PFS 1	\$292.62	
20041JLS- -03-13	PFS/Luer: NDC #76329-3304-1 - First Offer	\$98.06	600 / each	\$58,836.00
Product Co Agency No	ode: 310055099521 tes:	Supplier Product Code: 76 Supplier Notes: MBO-CALO		PE 100MG/ML PFS10X10ML

		I		<b>Lot Total:</b> \$405,626.40
Item#	Line Item	Unit Price	Qty/Unit	Total Price
20041JLS- -04-01	Miscellaneous: NDC # 0283-0679-02 - First Offer	\$37.45	300 / each	\$11,235.00
Product Co Agency No	ode: 210055020125 otes:	Supplier Product Code: 02 Supplier Notes: HURRICAINE SPRAY 2OZ BT		
20041JLS- -04-02	Miscellaneous: NDC # 0338-0004-03 - First Offer	\$4.23	3000 / each	\$12,690.00
Product Co	ode: 210055040002 vtes:	Supplier Product Code: BI Supplier Notes: MBO-WAT 18 EA / CS=\$76.28		G,USP,500ML,BOTTLE
20041JLS- -04-03	Miscellaneous: NDC # 57896-911-36 - First Offer	\$0.74	1024 / each	\$757.76
Product Co Agency No	ode: 310055020005 otes:	Supplier Product Code: O' Supplier Notes: ASPIRIN 8		RANGE TAB 36/BT

	O LECT OIL			
20041JLS- -04-04	Miscellaneous: NDC # 54288-103-10 - First Offer	\$10.30	700 / each	\$7,210.00
	ode: 310055020014 otes:	Supplier Product Code: 54 Supplier Notes: EPINEPHR 10 EA/BX= \$102.98		AMP 10X1ML
20041JLS- -04-05	Miscellaneous: NDC # 0338-0017-48 - First Offer	\$1.68	450 / each	\$756.00
Product Co Agency No	ode: 310055020016 otes:	Supplier Product Code: BX Supplier Notes: 14 EA / CS SOLUTION,DEXTROSE,5%,1	=\$23.57	
Agency No		Supplier Product Code: BF Supplier Notes: 18 BG / CS 800 MG DOPAMINE HCL IN	\$386.52 5% DEXINJ	\$4,294.00
20041JLS- -04-07	Miscellaneous: NDC # 00574-0069 - First Offer	\$1.63	700 / each	\$1,141.00
Product Co Agency No	ode: 310055020033 otes:	Supplier Product Code: OT Supplier Notes: 6 EA/BX=\$ GLUCOSE GEL 15GM 6/BX		

Broward Sheriff's Office

ii (ivi) (OLOTT	O/ILO I OIX			
20041JLS- -04-08	Miscellaneous: PART# 231209G - First Offer	\$6.80	30 / box	\$204.00
Product Co Agency No	ode: 310055020037 ites:	Supplier Product Code: CU Supplier Notes: TRIPLE AN	JR001209Z TIBIOTIC OIN,	0.9G PKT, 144/BX
20041JLS- -04-09	Miscellaneous: NDC # 76299-430-08 - First Offer	\$149.86	300 / each	\$44,958.00
Product Co Agency No	ode: 310055020054 vtes:	Supplier Product Code: 76 Supplier Notes: NITROMIS		L SPY 230 DOSES
20041JLS- -04-10	Miscellaneous: NDC # 24208-920-64 - First Offer	\$134.51	300 / each	\$40,353.00
Product Co Agency No	ode: 310055020071 vites:	Supplier Product Code: 00 Supplier Notes: TETRACAII		JD OPH SOLN 12X4ML

RIVIACEOTI	OALO I OR					
20041JLS- -04-11	Miscellaneous: NDC # 67777-251-01 - First Offer	\$23.84	600 / box	\$14,304.00		
Product Code: 310055020078 Agency Notes:		Supplier Product Code: AFF1349 Supplier Notes: AMMONIA INHALENT, 15%, AMPULE, 100/BX 100 EA/BX=\$23.84				
20041JLS-	Miscellaneous: NDC # 0281-0326-30 - First Offer	\$36.89	200 / each	\$7,378.00		
-04-12				47,576.00		
Product Code: 310055020121 Agency Notes:		Supplier Product Code: 0281-0326-30 Supplier Notes: NITRO-BID 2% OINT 30GM				
20041JLS- -04-13	Miscellaneous: NDC # 45802-410-59 - First Offer	\$1.48	200 / each	\$296.00		
Product Co Agency No	ode: 310055020123 otes:	Supplier Product Code: O' Supplier Notes: OXYMETA		6 NSL SPRY 30ML		
20041JLS- -04-14	Miscellaneous: NDC # 11704-370-01 - First Offer	\$896.88	36 / each	\$32,287.68		
1		I				

bid #20041JLS -PHARMACEUTICALS FOR

		Supplier Product Code: 11704-370-01 Supplier Notes: CYANOKIT 5GM VL			
20041JLS-	Miscellaneous: NDC # 0338-1007-03 - First Offer	\$0.00	200 / case	\$0.00	
-04-15	iviiscella liedus. NDC # 0336-1007-03 - Fil St Offer	\$0.00	2007 Case	φ0.00	
Product Code: 310055020161 Agency Notes:		Supplier Product Code: 0409-7809-22 Supplier Notes: MBO-DOPAMIN 1600MCG/ML+DX0.9% FC12X250ML			
20041JLS-	Miscellaneous: NDC # 0002-8031-01 - First Offer	\$295.66	500 / each	\$147,830.00	
-04-16 Product Code: 310055020162 Agency Notes:		Supplier Product Code: 0002-8031-01 Supplier Notes: GLUCAGON 1MG EMERGENCY KIT 1ML			
20041JLS- -04-17	Miscellaneous: NDC # 63653-1171-3 - First Offer	\$18.53	100 / pack	\$1,853.00	
Product Code: 310055020173 Agency Notes:		Supplier Product Code: 68084-536-01 Supplier Notes: CLOPIDOGREL 75MG UD TAB 100/BX			

KKWACEUTI	CALS FOR			
20041JLS- -04-18	Miscellaneous: NA - First Offer	\$3.00	120 / each	\$360.00
	ode: 310055020174 otes:	Supplier Product Code: O'Supplier Notes: STINGEZE		ELIEF DAUBER 0.5OZ
20041JLS- -04-19	Miscellaneous: NDC # 00597-0260-10 - First Offer	\$182.45	475 / each	\$86,663.75
Agency No	ode: 310055020175 otes:	Supplier Product Code: 05 Supplier Notes: GLUCAGE		OSTIC KIT
20041JLS- -04-20 Product Co Agency No	Miscellaneous: NDC # 0338-1007-02 - First Offerode: 310055020176 otes:	Supplier Product Code: 04		\$4,908.00 CG/ML+DX0.9% FC12X250ML

RMACEUTICA	ALS FOR			
20041JLS- -04-21	Miscellaneous: NDC # 0904-1985-00 - First Offer	\$2.12	250 / each	\$530.00
Product Cod Agency Note	le: 310055099155 es:	Supplier Product Code: O'Supplier Notes: MBO-ACE		0MG/5ML CHLD AFSUS 4OZ
20041JLS- -04-22	Miscellaneous: NDC # 0071-0418-13 - First Offer	\$34.25	500 / each	\$17,125.00
Agency Note	le: 310055099240 es:	Supplier Product Code: 00 Supplier Notes: NITROSTA 4EA/BX=\$136.99		TAB 4X25/BTL
20041JLS- -04-23	Miscellaneous: NDC # 0487-9501-01 - First Offer	\$0.19	7000 / each	\$1,330.00
Product Cod Agency Note	le: 310055099274 es:	Supplier Product Code: 04 Supplier Notes: ALBUTERO 30 EA/BX=\$5.70		INH SOLN 30X3ML
20041JLS- -04-24	Miscellaneous: NDC # 0487-9801-01 - First Offer	\$0.20	5000 / each	\$1,000.00

bid #20041JLS -PHARMACEUTICALS FOR

Supplier Product Code: 310055099316   Supplier Notes: NARCAN 4MG/0.1ML NASAL SPRAY 2 X 0.1ML	RIMACEUTI	CALS FOR			
O4-25   Supplier Product Code: 310055099316   Supplier Product Code: 69547-353-02   Supplier Notes: NancAn Amg/0.1ML NASAL SPRAY 2 X 0.1ML			Supplier Notes: IPRATROP		02% INH SOLN 30X2.5ML
20041  L5    Miscellaneous: NDC # 0781-5238-64 - First Offer   \$5.86   1500 / each   \$8.790.00	20041JLS- -04-25	Miscellaneous: NDC # 69547-353-02 - First Offer	\$66.79	260 / each	\$17,365.40
Product Code: 310055099502 Agency Notes:  Supplier Product Code: 62756-240-64 Supplier Notes: ONDANSETRON 4MG ODT TAB 30/BX  20041JLS- 04-27  Miscellaneous: PART # 40ZLUB - First Offer \$1.19 50 / each \$59.50			Supplier Notes: NARCAN 4		SAL SPRAY 2 X 0.1ML
Agency Notes: Supplier Notes: ONDANSETRON 4MG ODT TAB 30/BX  20041JLS- 04-27  Miscellaneous: PART # 40ZLUB - First Offer \$1.19 50 / each \$59.50	20041JLS- -04-26	Miscellaneous: NDC # 0781-5238-64 - First Offer	\$5.86	1500 / each	\$8,790.00
-04-27			Supplier Notes:		
	20041JLS- -04-27	Miscellaneous: PART # 40ZLUB - First Offer	\$1.19	50 / each	\$59.50
		ode: 500055020023	Supplier Product Code: M	DS032290	

20041]LS-   04-28   Miscellaneous: PART # T00137 - First Offer   \$0.05   53856 / each   \$2.60	Agency No	rtes:	<b>Supplier Notes:</b> JELLY,LUB 72 EA/CS=\$85.83	E,STERILE,FLIP	TOP,TUBE,4-OZ
Agency Notes: Supplier Notes: LUBE, JELLY, 2.7GR, STERILE		Miscellaneous: PART # T00137 - First Offer	\$0.05		\$2,692.80
			Supplier Notes: LUBE,JELL		.E

Gulf Coast Pharmaceuticals Plus \$659,953.76 (45/77 it				(45/77 items)		
Bid Conta	ct chelsea Havan chelseagcpplus@gmail.com Ph 561-577-7243 Estimated lead time: If product is in stock just a 1 day turnaround - if n Alternative drugs excel file attached	Address <b>995A N Halstead Rd</b> ocean springs , MS <b>39564</b>				
Agency No	otes:	Supplier Notes: Estimated lead time: If product is in stock just a 1 day turnaround - if not in stock then 2-3 day turnaround Alternative drugs excel file attached				
Item#	Line Item	Unit Price	Qty/Unit		Total Price	
20041JLS- -01-01	Vial: NDC # 0409-6629-02 - Alt 1	\$18.76	150 / each		\$2,814.00	
Product Code: 310055020029 Agency Notes:		Supplier Product Code: 69918-0700-25 Supplier Notes: SUCCIN CHLOR INJ 20MG/MLAMR25@ comes in a pack of 25 vials \$469/per pack of 25				

	O/ILO I OIK				
		First Offer	\$24.76	150 / each	\$3,714.00
Agency No	ode: 310055020029 otes:		Supplier Product Code: 00 Supplier Notes: comes in a		619/per pack of 25 vials
20041JLS- -01-02		Vial: NDC # 63323-064-04 - First Offer	\$3.08	500 / each	\$1,540.00
Product Co Agency No	ode: 310055020030 otes:		Supplier Product Code: 63 Supplier Notes: NDC# 633 25X10 ML		AGNESIUM SULFATE 50% SDV
20041JLS-		Vial: NDC # 0409-8060-29 - First Offer	\$8.60	1000 / each	\$8,600.00
Product Co Agency No	ode: 310055020031 otes:		Supplier Product Code: 00 Supplier Notes: NDC# 001		OMIDATE 40 MG SDV 10X20 ML
20041JLS- -01-04	Vial: NDC # 0409-230	08-02			No Bids
Agency No	otes:		Supplier Product Code:		
			•		

		Supplier Notes:		
20041JLS- -01-05	Vial: NDC # 0409-6625-02			No Bids
Agency No	ites:	Supplier Product Code: Supplier Notes:		
20041JLS- -01-06	Vial: NDC # 0009-0047-25 - First Offer	\$13.68	700 / each	\$9,576.00
Product Co	ode: 310055020122 vtes:	Supplier Product Code: 00 Supplier Notes:	0009-0047-25	
20041JLS- -01-07	Vial: NDC # 17478-937-05 - First Offer	\$8.70	2000 / each	\$17,400.00
Product Co Agency No	ode: 310055020128 otes:	Supplier Product Code: 00 Supplier Notes: NDC# 00641-6013-10 DILT		MG-5 ML SDV 10X5 ML - COLD
20041JLS- -01-08	Vial: NDC # 0641-6006-10 - First Offer	\$64.90	200 / each	\$12,980.00
Product Co Agency No	ode: 310055020140 otes:	Supplier Product Code: 00 Supplier Notes:	0641-6006-10	
20041JLS- -01-09	Vial: NDC # 60977-141-01 - First Offer	\$117.00	20 / each	\$2,340.00
Product Co	ode: 310055020147 ites:	Supplier Product Code: 60 Supplier Notes:	0977-141-01	
20041JLS- -01-10	Vial: NDC # 17478-542-02			No Bids
Agency No	ites:	Supplier Product Code: Supplier Notes:		
20041JLS- -01-11	Vial: NDC # 63323-651-04 - First Offer	\$35.60	1000 / each	\$35,600.00
Product Co	ode: 310055020156 vtes:	Supplier Product Code: 6: Supplier Notes:	3323-651-04	
20041JLS- -01-12	Vial: NDC # 42023-168-01			No Bids
Agency No	ites:	Supplier Product Code: Supplier Notes:		
20041JLS- -01-13	Vial: NDC # 63323-064-03 - First Offer	\$3.12	1000 / each	\$3,120.00
Product Co	ode: 310055020158 vtes:	Supplier Product Code: 6: Supplier Notes:	3323-064-03	
20041JLS- -01-14	Vial: NDC # 47335-931-44 - First Offer	\$7.90	250 / each	\$1,975.00
Product Code: 310055020160 Agency Notes:		Supplier Product Code: 00409-1632-01 Supplier Notes: NDC# 00409-1632-01 VECURONIUM 10 MG VL 10 \$79/per pack of 10 vials		
20041JLS- -01-15	Vial: NDC # 0409-1219-01			No Bids
Agency No	ites:	Supplier Product Code: Supplier Notes:		
20041JLS- -01-16	Vial: NDC # 0409-4888-20 - First Offer	\$3.28	200 / each	\$656.00
Product Co Agency No	ode: 310055020165 ites:	Supplier Product Code: 00 Supplier Notes:	0409-4888-20	
20041JLS-	Vial: NDC # 63323-474-01 - First Offer	\$257.00	300 / box	\$77,100.00

-01-17				
<b>Product Code:</b> 3100550201	66	Supplier Product Code: 63		
Agency Notes:		Supplier Notes: \$257/per	box of 25 vials	-
20041JLS- -01-18	Vial: NDC # 0409-3375-04 - First Offer	\$29.80	140 / each	\$4,172.00
Product Code: 3100550201 Agency Notes:	67	Supplier Product Code: 00 Supplier Notes:	0409-3375-04	
20041JLS- -01-19	Vial: NDC # 0409-9104-20 - First Offer	\$3.88	700 / each	\$2,716.00
Product Code: 3100550201 Agency Notes:	69	Supplier Product Code: 00 Supplier Notes:	0409-9104-20	
20041JLS- -01-20	Vial: NDC # 63323-616-03 - First Offer	\$3.28	2500 / each	\$8,200.00
Product Code: 3100550450 Agency Notes:	060	Supplier Product Code: 63 Supplier Notes:	3323-616-03	
20041JLS- Vial: NDC # 0409	9-9094-22			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
20041JLS- -01-22	Vial: NDC # 0409-4755-03 - First Offer	\$1.68	1500 / each	\$2,520.00
Product Code: 3100550991 Agency Notes:	54	Supplier Product Code: 00641-6078-25 Supplier Notes: NDC# 00641-6078-25 ONDANSETRON 2 MG-ML SDN 25X2 ML - \$42/per pack of 25 vials		NDANSETRON 2 MG-ML SDV
20041JLS- -01-23	Vial: NDC # 0409-4887-10 - First Offer	\$1.88	300 / each	\$564.00
Product Code: 3100550991 Agency Notes:	74	Supplier Product Code: 00409-4887-10 Supplier Notes:		
20041JLS- -01-24	Vial: NDC # 0409-6695-01 - First Offer	\$11.60	1000 / each	\$11,600.00
Product Code: 3100550992 Agency Notes:	203	Supplier Product Code: 00409-6695-01 Supplier Notes:		
20041JLS- -01-25	Vial: NDC # 0409-2290-31 - First Offer	\$3.04	1000 / each	\$3,040.00
Product Code: 3100550993 Agency Notes:	17	Supplier Product Code: 00 Supplier Notes: 00641-03' MG-ML VL 25X1 ML - \$76/p	76-25 à f Â,Ã, I	DIPHENHYDRAMINE HCL 50 vials
20041JLS- -01-26	Vial: NDC # 0409-3796-01 - First Offer	\$5.72	1000 / each	\$5,720.00
Product Code: 3100550995 Agency Notes:	504	Supplier Product Code: 00 Supplier Notes:	0409-3796-01	
20041JLS- -01-27	Vial: NDC # 0409-3796-19 - First Offer	\$5.72	150 / each	\$858.00
Product Code: 3100550995 Agency Notes:	504	Supplier Product Code: 00 Supplier Notes:	0409-3796-19	
20041JLS- -01-28	Vial: NDC # 0409-9558-10 - First Offer	\$14.90	100 / each	\$1,490.00
Product Code: 3100550998 Agency Notes:	256	Supplier Product Code: 00 Supplier Notes:	0409-9558-10	
20041JLS- -01-29	Vial: NDC # 63323-563-10 - First Offer	\$13.00	50 / each	\$650.00
Product Code: 3100550998 Agency Notes:	257	Supplier Product Code: 39 Supplier Notes: 39822-100 10X10ML - \$130/per pack of	00-01Ã, TRAN	,Â NEXAMIC ACID 100MG/ML VIAL
20041JLS- Vial: NDC # 006	5-0741-14			No Bids

	ICALS FOR	I			
-01-30					
Agency No	otes:	Supplier Product Code: Supplier Notes:			
				<b>Lot Total:</b> \$215,231.00	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
20041JLS- -02-01	Saline: NDC # 03389-54206-20			No Bids	
Agency No	otes:	Supplier Product Code: Supplier Notes:			
20041JLS- -02-02	Saline: NDC # 0338-0049-02 - First Offer	\$3.96	1440 / each	\$5,702.40	
Product Co Agency No	ode: 210055040065 otes:	Supplier Product Code: 00 Supplier Notes: NDC# 002 24X250 ML - \$95/per case 0	264-7800-20 SC	DDIUM CHLORIDE 0.9% IV BAG	
20041JLS- -02-03	Saline: NDC # 0338-0049-01			No Bids	
Agency No	otes:	Supplier Product Code: Supplier Notes:			
20041JLS- -02-04	Saline: NDC # 0338-0049-48			No Bids	
Agency No	otes:	Supplier Product Code: Supplier Notes:			
20041JLS- -02-05	Saline: NDC # 0409-4888-10 - First Offer	\$1.84	15000 / each	\$27,600.00	
Product Co	ode: 310055099173	Supplier Product Code: 00 Supplier Notes:	0409-4888-10		
20041JLS- -02-06	Saline: NDC # 0409-7984-13		No Bids		
Agency No	otes:	Supplier Product Code: Supplier Notes:			
				<b>Lot Total:</b> \$33,302.40	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
20041JLS- -03-01	PFS/Luer: NDC # 0409-4904-34 - First Offer	\$7.10	60 / each	\$426.00	
Product Co	ode: 310055020003 otes:	Supplier Product Code: 00 Supplier Notes:	0409-4904-34		
20041JLS- -03-02	PFS/Luer: NDC # 76329-3339-1			No Bids	
Agency No	otes:	Supplier Product Code: Supplier Notes:			
20041JLS- -03-03	PFS/Luer: NDC # 76329-3301-1			No Bids	
Agency Notes:		Supplier Product Code: Supplier Notes:			
20041JLS- -03-04	PFS/Luer: NDC # 0409-1775-10		No E		
Agency No	otes:	Supplier Product Code: Supplier Notes:			
20041JLS- -03-05	PFS/Luer: NDC # 76329-3316-1			No Bids	
Agency No	otes:	Supplier Product Code: Supplier Notes:			
		Supplier Notes.			

RMACEUTI	CALS FOR			
Agency No	tes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-07	PFS/Luer: NDC # 0409-1639-10 - First Offer	\$28.90	1800 / each	\$52,020.00
Product Co Agency No	ode: 310055020034 ites:	Supplier Product Code: 00 Supplier Notes:	)409-1639-10	
20041JLS- -03-08	PFS/Luer: NDC # 0409-5534-34			No Bids
Agency No	tes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-09	PFS/Luer: NDC # 0409-2339-34			No Bids
Agency No	tes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-10	PFS/Luer: NDC # 76329-3369-1			No Bids
Agency No	tes:	Supplier Product Code: Supplier Notes:		
20041JLS- -03-11	PFS/Luer: NDC # 25021-301-67 - First Offer	\$8.00	1100 / each	\$8,800.00
Product Co Agency No	ode: 310055099431 tes:	Supplier Product Code: 17 Supplier Notes: 17478-0542-02 ADENOSINI vials		DV 10X2 ML - \$80/per pack of 10
20041JLS- -03-12	PFS/Luer: NDC # 25021-301-68 - First Offer	\$35.10	1000 / each	\$35,100.00
Product Co Agency No	ode: 310055099432 tes:	Supplier Product Code: 63323-0651-04 Supplier Notes: 63323-0651-04 ADENOSINE 12MG-4ML SDV 10X4ML		
20041JLS- -03-13	PFS/Luer: NDC #76329-3304-1 - First Offer	\$16.20	600 / each	\$9,720.00
Product Co Agency No	ode: 310055099521 tes:	Supplier Product Code: Supplier Notes: COMES IN	A PACK OF 10	- \$162/PER PACK OF 10
				<b>Lot Total:</b> \$106,066.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
20041JLS- -04-01	Miscellaneous: NDC # 0283-0679-02 - First Offer	\$63.00	300 / each	\$18,900.00
Product Co Agency No	ode: 210055020125 ites:	Supplier Product Code: Supplier Notes: 00283-067	79-02 HURRICA	NINE 20% SPRAY CHERRY 2OZ
20041JLS- -04-02	Miscellaneous: NDC # 0338-0004-03 - First Offer	\$8.05	3000 / each	\$24,150.00
Product Code: 210055040002 Agency Notes: Supplier Product Code: Supplier Notes: NDC# 00338-0004-03 WATER S			ER STER IRRG E	BAG SOL 18X500 ML - \$145/PER
20041JLS- -04-03	Miscellaneous: NDC # 57896-911-36 - First Offer	\$0.39	1024 / each	\$399.36
Product Co Agency No	ode: 310055020005 ites:	Supplier Product Code: Supplier Notes: sold as 36	/btl at \$14	
20041JLS- -04-04	Miscellaneous: NDC # 54288-103-10			No Bids
		Supplier Product Code:		

 	CALS FOR	Supplier Notes:		
20041JLS- -04-05	Miscellaneous: NDC # 0338-0017-48 - First Offer		450 / each	\$1,863.00
Product Co Agency No	ode: 310055020016	Supplier Product Code: Supplier Notes: sold as 96bags/per case - \$397/case of 96 bags		
20041JLS- -04-06	Miscellaneous: NDC # 0264-9594-20 - First Offer	1	200 / each	\$2,092.00
<b>Product Code:</b> 310055020027		Supplier Product Code: Supplier Notes: sold as 24	lbags/case - \$2	!51/ case of 24 bags
20041JLS- -04-07	Miscellaneous: NDC # 00574-0069 - First Offer	\$7.33	700 / each	\$5,131.00
	ode: 310055020033 otes:	Supplier Product Code: 0 Supplier Notes: 00574-00 PADDOCK - sold as a pack	69-30 GLUTOS	E 15 LEMON GEL 3X37.5GM ck of 3
20041JLS- -04-08	Miscellaneous: PART# 231209G			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:	ı	
20041JLS- -04-09	Miscellaneous: NDC # 76299-430-08 - First Offer		300 / each	\$47,430.00
	ode: 310055020054	Supplier Product Code: 7		TRONAIST 400 NACC CRV 0 F
<b>Agency No</b> 20041JLS- -04-10	Miscellaneous: NDC # 24208-920-64	Supplier Notes: NDC#762	99-0430-08 NI	TROMIST 400 MCG SPY 8.5  No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-11	Miscellaneous: NDC # 67777-251-01			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:	ı	
20041JLS- -04-12	Miscellaneous: NDC # 0281-0326-30			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-13	Miscellaneous: NDC # 45802-410-59			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-14	Miscellaneous: NDC # 11704-370-01			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-15	Miscellaneous: NDC # 0338-1007-03			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-16	Miscellaneous: NDC # 0002-8031-01			No Bids
Agency No	otes:	Supplier Product Code: Supplier Notes:		

NIACEOTT	CALS FOR			
20041JLS- -04-17	Miscellaneous: NDC # 63653-1171-3 - First Offer	\$49.88	100 / pack	\$4,988.00
		Supplier Product Code: 00 Supplier Notes: 00904-629 (alt to plavix)- \$49.88/10pag	94-61 CLOPIDO	OGR TB 75MG UD MMP10X10@
20041JLS- -04-18	Miscellaneous: NA			No Bids
Agency No	ites:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-19	Miscellaneous: NDC # 00597-0260-10 - First Offer	\$237.00	475 / each	\$112,575.00
	ode: 310055020175	Supplier Product Code:		
Agency No		Supplier Notes:		
20041JLS- -04-20	Miscellaneous: NDC # 0338-1007-02 - First Offer	\$16.56	600 / each	\$9,936.00
Product Co Agency No	ode: 310055020176 vtes:	Supplier Product Code: 00 Supplier Notes: 00409-780 ML LC- \$298/case of 18 bag	09-22 DOPAMI	NE-DEXT 400 MG BAG 12X250
20041JLS- -04-21	Miscellaneous: NDC # 0904-1985-00 - First Offer	\$16.00	250 / each	\$4,000.00
Product Co Agency No	ode: 310055099155 ites:	Supplier Product Code: 45802-0201-26 Supplier Notes: 45802-0201-26 ACETAMINOPHEN CHILDRENS GRAPE ORAL SUSPENSION 118ML		
20041JLS- -04-22	Miscellaneous: NDC # 0071-0418-13			No Bids
Agency No	ites:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-23	Miscellaneous: NDC # 0487-9501-01 - First Offer	\$0.17	7000 / each	\$1,190.00
Product Co Agency No	ode: 310055099274 vtes:	Supplier Product Code: Supplier Notes: \$5.20/box	c of 30	
20041JLS- -04-24	Miscellaneous: NDC # 0487-9801-01 - First Offer	\$0.17	5000 / each	\$850.00
Product Co Agency No	ode: 310055099275 ites:	Supplier Product Code: Supplier Notes: \$4.99/box	of 30	
20041JLS- -04-25	Miscellaneous: NDC # 69547-353-02 - First Offer	\$97.50	260 / each	\$25,350.00
Product Co Agency No	ode: 310055099316 vtes:	Supplier Product Code: Supplier Notes: \$195/pack	c of 2	
20041JLS- -04-26	Miscellaneous: NDC # 0781-5238-64 - First Offer	\$31.00	1500 / each	\$46,500.00
Product Co Agency No	ode: 310055099502 vtes:	Supplier Product Code: 68 Supplier Notes: 68462-019 (alt to 5238-64)		5 OD TAB 4MG UD GLEN 30@
20041JLS- -04-27	Miscellaneous: PART # 40ZLUB			No Bids
Agency No	ites:	Supplier Product Code: Supplier Notes:		
20041JLS- -04-28	Miscellaneous: PART # T00137			No Bids
Agency No	ites:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$305,354.36